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3.4 Parallel and Intersecting Lines

1.

(@ a=31°b=66° () c=45°,d=60° (0) e=106° (@) f=104°
() g=68°h=63 ® a=55 (@) p=T79° () d=78e=T0°f=110°
(@) a=50°bh=135° () e=67°f=113°g=113° (k) e=28°

O m=125° (m) s=85° (@ x=125° (o) x=98° (p) e=111°p=83°
@ a=28° @ a=42°b=70%c=68 () x=y=47° (@ x=75

(@) 3x=180°= x=60° () 12v=180°= x=15° () 9x=180°= x=20°
@ 82° () 140° (0 38 (@) 33 () e=15°fF=60° (B 67°

ADC = 54°

(@ (@) 50° (i) base angles of isosceles are equal ; angles add upto 180°  (b) 110°
(@ p=40° (alternate angle) () ¢=50° (opposite angle)  (c) r=90°

@ x°=52°
(i) Alternate angles, then either angles on a straight line or angles in a triangle.








